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WEST BENGAL STATE UNIVERSITY
B.Com. General Part-II Examination, 2022

BUSINESS REGULATORY FRAMEWORK

PAPER: BRFG-II

Time Allotted: 3 Hours Full Marks: 100
The figures in the margin indicate full marks. aNfer T F0Z T YMo Q"Y/VW fac e
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

1. (a) Define consideration. Discuss the exceptions to the rule “No Consideration, No
Contract™.
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(b) Discuss the essential elements of a valid contract.
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(a) Distinguish between contract of guarantee and contract of Indemnity. In what
circumstances contract of Guarantee is invalid?
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(b) Discuss in detail the various ways in which a contract may be discharged.
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2. State the essential elements of a contract for sale of Goods. Distinguish between
sale and agreement of sale.
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“No seller of goods can give the buyers of goods a better title of goods than himself
has” — Explain the statement with exceptions.
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3. Define sleeping partner. What are the duties of partners of a firm?
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Is registration of a partnership firm compulsory? What are the essential elements of
a partnership?
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Define ‘Bank Draft’. What are the difference between cheque and bank draft? 2+6
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What do you mean by crossing of cheque? Discuss the consequences for 2+6

dishonoured of a cheque.
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What do you mean by unfair trade practice under Consumer Protection Act, 19867 6
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What is consumer dispute? State the objective of Consumer Protection Act, 1986. 2+4
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Write short notes on: 2
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(a) Digital Signature / {0 T
(b) Computer Virus / 100 ©IZA|
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State the objectives of IT ACT, 2000. 5
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What is private company? Difference between private and public company. 2+8
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Define company. When is a company deemed to be public? 3+7
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Define Articles of Associations and Memorandum of Association. Discuss the  2+2+6
process of alteration of Articles of Association.
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State the mis-statement in prospectus. Who are liable for such untrue statement?  2+2+6
State the extent of liability for untrue statement.
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Who is a promoter? What are the duties of a promoter of a company?
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Discuss about certificate of commencement of business.
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What is sweat equity share? State the provisions relating to issue of sweat equity
shares. Discuss the classification of preference share.
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Discuss the functions and rights of Board of Directors of a company.
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How a company director be appointed and removed?
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N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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